Al 5 jalaal

Syllable Structure in English
Lets study it...
Wl VI 59 anbaalll gbliodl aulsud
Lpiwl ) pgstid

What Does Syllabification of a Word Mean?

- Words can be cut up into units called syllables.

- Humans seem to need syllables as a way of segmenting the stream of speech and giving it a
rhythm of strong and weak beats, as we hear in Music.

- Syllables exist only to make speech easier for the brain to process.

- A word contains at least one syllable.
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Most speakers of English ...

- ...have no trouble dividing a word up into its component syllables. Sometimes how a
particular word is divided might vary from one individual to another, but a division is always
easy and always possible. Here are some words divided into their component syllables (a
period is used to mark the end of a syllable):

- tomato = to.ma.to
window = win.dow

- (some people might put some of the periods in different pIaces in this word).
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Syllables and their parts

- The parts are onset laiuo and rhyme &slall ; within the rhyme we find

the nucleus and coda.
- Not all syllables have all parts; the smallest possible syllable contains a nucleus only.
- A syllable may or may not have an onset and a coda.
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Onset (O)

- Onset: the beginning sounds of the syllable; the ones preceding the nucleus. These are
always consonants in English. The nucleus is a vowel in most cases, although the
consonants [ r], [I],[L m], [ n], and the velar nasal (the 'ng' sound) can also be the
nucleus of a syllable.

- In the following words, the onset is in bold; the rest underlined.
read
flop
strap

0) ixiuoll

0l 8lgi s Sl £33l fshasalll glasoll (59 &gommall woall &l ga laiwell -
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If a word contains more than one syllable,
each syllable will have the usual syllable parts:

win.dow
to.ma.to
pre.pos.te.rous
fun.da.men.tal

Rhyme (R)

Rhyme (or rime): the rest of the syllable, after the onset (the underlined portions of the
words above). The rhyme can also be divided up:

Rhyme = nucleus + coda

ohl%yl&@wwww
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Nucleus (N)

Nucleus is the core or essential part of a syllable. A nucleus must be present in order for a
syllable to be present.

ol 93 8lgill s9>5 . sbaslll ghsoll (JMudl) (58 sl Vs sowluwVl 63zl o 8lgidl -
aJSIU ghisoll 5959

In English and most other languages, most syllable nuclei are vowels.

(0lslo) ale bgy> weSi shalll ghiol) el phaso 5,5Vl slalll plaso g @pl=sVl (28 -

The English liquids asiloJI [ r | ] and the nasals &l [ m n ] can be the nuclei of
syllables under certain conditions. [ r ] can be a nucleus as easily as a vowel, in any
position: the words ‘bird’, have [ r ] as the nucleus; in other words, there is no vowel in the
pronunciation of these syllables, even though they have one in the spelling.

[brd]

asiloll o)l OlgoVI [r 1] awVls  [m n] vam w8 daslll glasoll slgil weSs 18
iszoll VI aolS els Jlio © gdgo Sl (58 wilo wlSg sleil g weS, 18 bird
B,> cuslr] (@sll) olal sg=sV @l sl (slgidl 9o [i] 0id 58 gblioll (shis losic
aalSJI[brd] anls) aubstl aimpdl (58 wilall s9=5 oe e, ([bird]

[ I ] and the nasals [ m n ] become syllable nuclei when they follow an alveolar consonant in
the last syllable of a word. This happens in the relaxed or casual rather than very formal
articulation of the word. Compare casual vs. formal pronunciations of ‘button’, ‘bottle’,
‘bottom’.

oSl (58 glasio ,51 s i) cuolo wls il losic glaioll 8lgs puas [M n] &Vl g [1]
cesocy )l ol 93 yusill (b @io S| (s yinuodl plell yusilly (sladl (58 Us &asu
‘button’, ‘bottle’, *bottom’. sasVl 0glll 8,95 iadl lolS)l s gl U,
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The Core Syllable
The core syllable is made up of a Nucleus preceded by an Onset:

N

O (nset) N (ucleus)

C Vv

Taodb @8gaandl 8lgl oo oS dubaalll gblaodl (58 sowlwl glasoll
DMel powyl (58 aogo 9 oS

Some languages only have CV syllables.

More commonly, languages allow for syllables of greater complexity.

The core syllable is, however, found in every language.

the fact that CV syllables are cross-linguistically attested offers an interesting parallel with
their invariable occurrence in early child language.

(V) cilall g colall ols gblaall (ale bhid Sgizs slalll oz -

lusss S| golao (g arowws wlell ple JSin -
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a0 g 9 Jabll asly auls sg>9 wuwn plosa W

Linguists often use tree diagrams to illustrate syllable structure. 'Flop', for example, would
look like this (the word appears in IPA symbols, not English spelling). 's' = 'syllable’; 'O" =
'onset’; 'R' = 'rhyme’; 'N' = 'nucleus'; 'C' = 'coda'.

il gbliall oS leis) oSzl Juiodd] Usorzinglo WLE ousslll
ol « IPA pllas (s 890, uiSi andsl)t oUsl zuao 98 oS Jiad Jlioll Jw sl Flop
Blodl= "N’ a5lall= "R’ cslaisoll = 0" «Soa) ghaiio = 's' .(aysulzs Yl sMoYl (sd lpiizepiy
«solis glio='C’

The syllable node at the top of the tree branches into Onset and Rhyme; the Onset node
branches because it contains two consonants, [ f ] and [ | ]. The Rhyme node branches
because this syllable has both a nucleus and a coda.

[f] csolo ailou> Loyl £0m Laioll 4806 5 lisso Ul €505 8,2l puly 59 dunlasoll 152

oLl 8loidl WS (Sgiz ghasiall 1id 0V Laul ¢ ,05 adlall . 1o
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Steps to determine the diagram:

a. Determine the nucleus (N)
Add Rhyme ( R ) on the ordinate of the nucleus
c. Determine the onset (O) and the coda (C).

o

(N) ghioll 8lgi 52> (a
dlgall bs s ol g (b
. (C) anilzdl ¢ (0) Towell 52> (cC

The syllable structure analysis of the words 'read’, 'flop', 'strap’' and 'window' are
as follows (IPA symbols are used to show the sounds in the word/syllable):
‘read’, ‘flop’, ‘strap’, and Ol 9 duball gblaol) wasS il Jud=idl b lowd
ghbioll [aols)l o\ wigo V! puosil wwisiwl IPA ;90,J1) ‘window’

read = one syllable window = 2 syllables

Onset =[r] First syllable: [win]

Rhyme = [id ] (within the rhyme:) Onset = [w]

Nucleus = [ i ] Rhyme =[In]
Coda =[d] Nucleus = [ 1]
flop = one syllable Coda =[n]

Onset = [ fI]

Rhyme =[ap] Second syllable: [d o]
Nucleus = [a] Onset=[d]
Coda = [p] Rhyme=[0]

Nucleus=[0]
(This syllable has no coda)
< Notice >

A.If a syllable has the coda, it is called as closed syllable
Example : cap, sit, man

b. If a syllable doesn't have the coda it is called as open syllable.
Example : he, she, me

Sab>Mo €

Weo ghao sy 48l aoils (sde glhdoll Sgisl 13
cap, sit, man : .9 oS

coito ghbto (swuuw a9l anils (sde Sqixy pJ 3]
he, she, me : 59 oS
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Liquids and nasals as syllable nuclei

The English liquids [ r | ] and the nasals [ m n ] can be the nuclei of syllables under certain
conditions. [ r ] can be a nucleus as easily as a vowel, in any position: the words 'bird’,
'‘word', 'her', 'fur', the first syllable of 'perceive' and 'surname' and the final syllables of
'mother’, 'actor' (in casual pronunciation) all have [ r ] as the nucleus; in other words, there
is no vowel in the pronunciation of these syllables, even though they have one in the
spelling.

SVl Lass s saalll glasol) dlgl 0gSi 38 [m n] &Vl [r 1] asslodl @)l wlgoll -

‘bird', 'word', 'her’, 'fur' wlodS cls Jlio : 8350 Sl (58 wlo Sy slgil 9o WS, 18 [r] . éuusoll
w9 . ‘actor’ ¢ ‘mother’ (s usVl glhiolly ‘surname’ g ‘perceive’ oo JoVl ghioll (sd Layl

5928V @l Sl 51 sumosedlgdl @l ale [r] @ymdl Sgizs wlolSIl 6ia JS ooy mall sl

Sl @xpill 8 wilall 3959 e o b wolodSIl 0is 8 gblaodl sl boaic (alsl) wilal

[ I ] and the nasals [ m n ] become syllable nuclei when they follow an alveolar consonant in
the last syllable of a word. This happens in the relaxed or casual rather than very formal
articulation of the word. Compare casual vs. formal pronunciations of 'button’, 'bottle’,
'bottom".

aolSIl (58 gl ,51 (s Sei) cuolo wls (il losic ghaoll loy auas [m n] sVl g [1]
cosoowy)l ] 95 sl (58 Wio LS| (s il pledl jueilly (bl (28 S Gasy
‘button’, ‘bottle’, *bottom’. sasVl 0glll 6,95 iadl lolS)l (s gl U,

When one of these sounds is a syllable nucleus, this is shown in transcription by putting a
very short vertical line under the IPA symbol
[rImn]

Sxgoc b pawy @GS dic e G (ghioll blgi @990 9 WlgoVl 0id WeSH losic Wb aule

oMel zuogo 98 oS IPA J (sigall 50l =i jund
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Summary of the elements of a phonological system...

The phonological system of a language includes various units plus patterns which are
used to combine the units into larger units. The units of a phonological system are:

ST olasg ol wlasgll o> 9 sy iz blodl 9 aslixo WlA>9 (Sgixs Sgelll Wligall ol

el ligall plad wlasgll

1. features:

aspects or characteristics of a speech sound that arise from the way the sound is
articulated or the way it sounds to the ear.

'Voicing' is a feature that varies according to whether or not the vocal cords vibrate
during the articulation of a sound; the sound [ s ] is voiceless, but the sound [ z ] is
voiced, for example.

Other features include 'manner’, or what sort of gesture or position is used to make a
consonant sound (a 'stop' involves blocking the airstream completely for a fraction of a
second, as for [ p ], while a 'fricative' involves creating a narrow opening through which
air escapes, as for [ f ].

There are also suprasegmental features, which are 'overlaid' on syllables or words.
One such feature is stress, known outside linguistics as 'where the accent is in a word'.

In 'potato’, the stress falls on the second syllable; in 'promise' on the first.

iowlo 9 Uljwow )

b oo ol waall Loy Boliolly 2,28l Bkl o asll o MSIl wgall Laslas ol wilg>
03Vl (9 weall L ggoumnll B,lll

ehal g sl DM ozl agsall Jladl Ol coms iz zolo o8 szl el il
Jlodl Jurw (sle Syop> 98 [2] loiw S)9p> me o [S].Y ol woall

g0 23V Cwoaziwl g8lgel! gl WLLLVII o g9 Sl (sizos ‘manner’ ga s,V zwoMoll 3>
lais « [P] 2l >V bl JimW lolod (silspdl )Ll Slaul (58 pdliuwy "B989)l" ) wuolo
] I 09 S slgpdl Ll dio wypd (8ao dbin 3l (e acluy ISV

adhalll gblaodl (sJl Blai silll 9 suprasegmental aehio 998l wliondl Loyl cUla
9 . aolSIl (8 8 ,uudl Uy augel) el duic Vg 20l 99 Awiuidl oMol el s>l . wledsSIl ol
e gay yauadld promise’ aodS s bosw bl glhsoll duie gy il ( ‘potato” aods
JoV| ghioll
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Summary of the elements of a phonological system 2> > > > > > >> > >
2. segments:

a segment is a speech sound such as [ m ] or [ i ]. Speech sounds are made by putting
several features together. [ m ], for example, is created by vibrating the vocal cords
(feature: voiced), closing the mouth at the lips (feature: bilabial), and lowering the soft
palate so that air can escape through the nose (feature: nasal). These three gestures occur

simultaneously. The result is a voiced bilabial nasal, [ m ]. Thus, segments are units that are

built up from features; features are the building blocks for segments.
iasball gl )l .Y
leass go pailazlly aoMall wlixo gog: LS &MUl lgoVl . [1] ol[M] Jio (sl ©go (s
dic pall Slbl o(cs,9p>18500ll) abgall Ju=dl wljliial saa (Jbell Juw sde [M] . pasll
(sl 185000l ) @Vl JMS il oo slgpdl (uSoi) Gulll bl yaas « (Sgai 185unll) ucaall
b ghallb i . [Mm] ¢ eVl Seaill Sigpmdl waall 9o zuldl leo wazs ol LoVl ois JS

52l ol a=hsll L adll s d zroMolly Wliwowndl {wliuon 9 oMo JMS (o wdSLis wlasg
wswo MSI
D2D2DDDDDDIDIDDDD
3. syllables:
a syllable is a rhythmic unit of speech. Syllables exist to make the speech stream easier
for the human mind to process. A syllable comprises one or more segments; segments are
the building blocks for syllables. Details on the syllable are found below.
bl ghsoll LY
ol axdles Jpawd (sowlwl JSuin wazg adaelll gblaosl oMl (59 auclasVl da>gll 9o
Ul 8,953 S Juolas .S gl sdas) £5> (Sgizy sdaslll glasoll .S mindl Jsell adawlg,

4. words:
words are made of syllables.
oladsdl L&
Audhsl gblso o @gSo

The patterns or rule systems of a phonological system include: 2 2 2 2> 2> 2> > >
1<<<<<<<< Jouiv wligall olad acqsll ol ol blosVI

1. phonotactics,
also known as sequence constraints. These are restrictions on the number and type
of segments that can combine to form syllables and words; they vary greatly from one
language to another. In English, for example, a word may begin with up to three
consonants, but no more than three. If a word does begin with three consonants, the
first will always be [ s ], the second must be chosen from among the voiceless stops [ p
t k ] and the third from among the liquids [ | r ] or glides [ w y ]. Thus we get
words such as 'squeeze' [ s k wi z ] in English, but not words suchas[ pstap ].
uuSasUgigall .Y
&hsll glgil 9 a2 dcgogoll sgu8ll (e 8,lie D9 >9x2)] 9l gilgoll Aol B, Loyl
S,5Y a8l o sgusll 0is wlizi (wlally adaslll gblaoll WeSH gouzs Ul Sl adaslll
cnadV] Al UsSy Ul (sde oo o LS Tas 38 aalSl cJliadl Juw csde @usulsoVl (s
Cwlgall 3>l Ve Ul s il « [5] WeSy Lo Lasls JgVI &ll=dl el (88 . caolgun W
aolS Jio wlodS az clid . [wy] adVuVl ol [Ir] agilodl o>l el g [ptk ] awgopoll
. [pstap] Jio wlolS 336 Vg « &u3dssVl el (5o [s k Wi 2] Wigo augiSell ‘squeeze’
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3. phonological processes,
including coarticulation processes, are modifications of the feature structure of a
sound that occur for one of two reasons: to make sounds that are near each other more
alike, thus make articulation easier (assimilation), or to make sounds more different from
each other (for instance, aspiration makes voiceless stops suchas[ p ]Jand [ k ] more
different from voiced ones suchas[ b Jand[ g ].

gl adosll .Z

Weall dazdauwdl Oljaondl 9 2uoModl (e WMl a9 « coarticulation Uldecs sJe Sgixi
9 b Jupauid) s$JWls « dpylinio oy oo duill wlgoVl Jezd lol tgummdl 45V Gz (sl
&Sew i il sou gl Mio ) Lasdl lpas oo BV S| olgoVl Jexd of g leswl

- [b]; [9] Jio @uyp=dl o UMzl 3SI [P], [K] wgopoll 99 =lI

Draw, the syllable structure of the following words:

apron
basic
began
begin
depend
even
hotel

Exercise: Analyzing the syllable structure of English words

Using the models on the 'Syllable structure in English' page for the words 'read', 'flop’,
and 'window', analyze the following words into their syllable structure. (See Slide 14)
(1) Write the word with periods between the syllables; use IPA symbols - Ex. 'baby' = [
be.bi ]

(2) List and identify the parts of each syllable

Ex. : 'boondocks' = [ bun.daks ]

First syllable:
[ bun] Remember that diphthongs count as single
Onset [ ] vowel segments.
Rhyme [ un ]
Nucleus [ u ] Here are your words:
Coda [n]
- Second syllable: < 1. playdough >
[ daks ] 2. thanks.
Onset [d] 3. nondescript (take your time!)
Rhyme [ aks ] 4. toys
Nucleus [ a ] 5. straw
Coda [ks] - ~
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